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ARCHAEOLOGY
PAPER —1II

Note : This paper contains fifty (50) objective-type questions, each question carrying
two (2) marks. Attempt all of them.

1.  The Author of the book ‘Piecing Together the Past’ :

(A) David Clark (B) H.D. Sankalia
(C) Donald Johanson (D) Gordon Childe

2. The first Indian Palaeolithic tool was discovered by :
(A) D. Sen (B) Robert Bruce Foote
(C) De Terra (D) E.R. Allchin

3.  Cranial capacity is determined through :
(A) Nassan Index (B) Cephalix Index
(C) Varve Analysis (D) Flourine Test

4.  Write the name of the Third phase of glaciation of the Pleistocene Age.

(A) Kagerean (B) Gunj
(C) Riss (D) Moraine
5.  Which Palaeolithic site has revealed the evidence for wooden spear :
(A) Kalambo falls (B) Patjitan
(C) Saint Acheul (D) Le Micoque
6.  Which Indian site has revealed earliest Hominid fossil :
(A) Bhim Baithaka (B) Nevasa
(C) Soan Valley (D) Hathnora
7.  The earliest evidence of cotton is reported from :
(A) Mohenjodaro (B) Kalibangan
(C) Nevasa (D) Mehrgarh

8.  Which one of the following is the copper hoard site ?
(A) Hastinapur (B) Jodhpur
(C©) Gungeria (D) Lal Qila
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10.

11.

12.

13.

14.

15.

16.

17.

Who excavated Gumla ?
(A) F.A. Durrani (B) M.R. Mughal
(C©) A.H. Dani (D) Z.A. Ansari

Menhir is associated with :
(A) Palaeolithic Culture (B) Chalcolithic Culture
(C) Megalithic Culture (D) Neolithic Culture

Which of the early caves given below is Chaitya grih at Ajanta ?
(A) Cave Number VIII (B) Cave Number XII
(C) Cave Number IX (D) Cave Number XIII

Asko Parpola has been working on :
(A) Brahmi Script (B) Kharoshthi Script
(C) Harappan Script (D) Sharada Script

Which of the following Ashokan edicts gives the name of Ashoka for the first time ?
(A) Maski (B) Hazara
(C) 14t rock edict at Girnar (D) Mansehra

Ashvamedha type coin was issued by :
(A) Kushan (B) Samudragupta
(C) Harshavardhana (D) Pushyamitra Shunga

Who issued the first gold coin in India ?
(A) Kadphesis I (B) Kanishka I
(C) Diodotus (D) Samudragupta

Azes Il was succeeded by :
(A) Azilises (B) Gondophares I
(C) Maus (D) Menander

Name the Author of “Pre-historic India” :
(A) Wheeler (B) V. Gorden Child
(C) Stuart Piggott (D) F.E. Zeuner
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18.

19.

20.

21.

22.

Assertion (A) : Stone Age Human fossils have been found in many parts of our
country.

Reason (R) : It was due to the favourable environment.
(A) Both (A) and (R) are correct
B) Both (A) and (R) are false
) (A) is correct but (R) is false
D) (A) is false but (R) correct

Assertion (A) : The Indo-Greeks Spread the Greek Culture in India.
Reason (R) :  They had ruled over a large part of India.
(A) Both (A) and (R) are correct

(B) Both (A) and (R) are false
(C) (A) is correct but (R) is false
(D) (A) is false but (R) correct

Assertion (A) : The Mauryan Empire did not survive for long after the death of Ashoka.
Reason (R) : It was due to the invasion of the Saka.
(A) (A) is false but (R) is correct

(B) (A) is correct but (R) is false
(C) Both (A) and (R) are correct
(D) Both (A) and (R) are false

Assertion (A) : Second Urbanization took place in the Ganga Yamuna Doab.
Reason (R) :  Surplus agricultural economy favoured the growth of town and cities.
(A) (A) is correct but (R) is false

(B) (A) is false but (R) is correct
(C) Both (A) and (R) are false
(D) Both (A) and (R) are correct

Assertion (A) : The Harappan had the trade contact with Southern Neolithic region.
Reason (R) :  There is gold in the Southern Neolithic region.
(A) (A) is correct but (R) is false

(B) (A) is false but (R) is correct
(C) Both (A) and (R) are false
(D) Both (A) and (R) are correct
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18.

19.

20.

21.

22.
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23.

24.

25.

26.

Assertion (A) : Kashmir Neolithic was an isolated Phenomenon.
Reason (R) : It did not evolve within Kashmir.

(A) (A) is false but (R) is correct

(B) (A) is correct but (R) is false
(C) Both (A) and (R) are correct
(D) Both (A) and (R) are false

Assertion (A) : The Gupta Period is known as the Golden Age.

Reason (R) : It was due to the discovery of Gold mines in the Gupta territory.

(A) (A) is false but (R) is correct

(B) (A) is correct but (R) is false
(C) Both (A) and (R) are correct
(D) Both (A) and (R) are false

Assertion (A) : The Punch Marked Coins do not have any Legend.
Reason (R) :  The art of writing was not known at that time.

(A) Both (A) and (R) are correct

(B) Both (A) and (R) are false

(C) (A) is correct but (R) is false

(D)

D) (A) is false but (R) correct

Arrange the following in Chronological order :
(i)  Austrolopithecus
(i) Dryopithecus

(iii) Homo erectus

(iv) Rama Pithecus

Code :

(A) @) @) (v) (i)
B @ (Gv) @) (i)
© Gv) @) @) @)
(D) (@) (@) @) (i)
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24.

25.
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27. Arrange the following Ceramic in Chronological order :
(i) Polished Red Ware
(i) N.B.P. Ware
(iii) Black and Red ware
(iv) Painted Grey ware

Code :

(Aa) @ @ @) (iv)
B @ @) (@) (i)
(© i) (@v) @) @

(D) (v) @) @) (i)

28. Arrange the following in Chronological order :

(i) Mindel (i) Wurm
(iii) Riss (iv) Gunj
Code :
(A) (v) @ (i) (i)
(B) ) @) @ (@)
© @ (Gv) @) (i)
(D) (v) @) @) @

29. Arrange the following in Chronological order :
(i) Sun temple at Konark
(i) Badami Cave No.2
(iii) Shore temple at MahabaliPuram
(iv) Kailasanatha temple at Ellora

Code :

(A) (v) @) @ (i)
(B) (@) (i) (@v) @

(© @) Gv) @& ()
(D) @@ @ (3D (v)

30. Arrange the following in Chronological order :
(i) Kanva (i) Kadamba
(iii) Satavahana (iv) Ganga
Code :

(A) (@v) @) G @

B) @ @) (@v) (i)
(© @) @ @ (@v)
(D) @ @) @) (v)
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31.

32.

33.

34.

Arrange the following in Chronological order :
(i) Ajanta Cave No. 3

(i) Kailasanatha Temple at Ellora

(iii) Karle Chaitya Cave

(iv) Lamas Rishi Cave

Code :

(A) @ @) (@v) (i)

(B) (@) (@v) @) @

(€ @v) @) @) ()

(D) @@ @) @ ()

Arrange the following in Chronological order :
(i) Satamana (i) Gadyana
(iii) Dinara (iv) Varaha
Code :

@A) (@) @) ()

® O ) G Gv

© O (v @) (i)

D) i) () (v ()

Arrange the following in Chronological order :
(i) Mathura (i) Rajagriha
(iii) Pataliputra (iv) Vatapi
Code :

@A) (O G @) )

B () ) (v 0

© (v () O (i)

D) @) (v) @) @

Arrange the following in Chronological order :
(i) Gautamiputra Satakarni

(ii) Pulakesin I

(i) Amogha Varsha Nripatunga

(iv) Kumara Gupta

Code :

(A) (@) (@v) @) (i)
B) @) @ @GP (@)
Q) (v) (@) @) ()
(D) (@) (@) (@) (i)

D—-6707 12
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35.

36.

37.

The following Foreigners visited India. Arrange them in Chronoligical order :
(i) Itsing

(i) Megasthenes

(iii) Hiuen Tsang

(iv) Fahien

Code :

(A) @ () (v) (i)
(B) (v) (@) @ (i)
© @) @@ G ()
(D) G (v) (D) ()

Match the items of List-I with those of List-II :

List - I List - 11
(a) Devnimori i) R.E.M. Wheeler
(b) Mohenjodaro (i) B. Subba Rao
(c) Lothal (iii) Sir John Marshall
(d) Arikamedu (iv) S.R. Rao

Select the right answer from the codes given below :

(@ ® (© @

(A) () (@v) @ @)
(B) @) (D) (@) @
(© (v) G) @G @
(D) O G G @)

Match the items of List-I with those of List-II :

List - 1 List - I1
(a) Painted Grey Ware (i)  Arikamedu
(b)  Ochre Coloured Pottery (i) Ahichchhatra
() Roulette Ware (iii) Hastinapur
(d) Northern Black Polished Ware  (iv) Taxila

Select the right answer from the codes given below :

@ @) ( @

(A) @) @) @ G
(B) Gv) (@) () ()
© @ (@) (@v) (i)
(D) @) (@v) @) @)
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38. Match the items of List-I with those of List-II :
List - 1 List - 11
(a) Ashokan Stupa (i) Modhera
(b) Dhamek Stupa (i) Sanchi
() Sun Temple (iii) Ellora
(d) Kailashnath Temple (iv) Sarnath
Select the right answer from the codes given below :
(@ ® (o @)
@A) O @) G @)
B (v () @ 0
© () (v 0 (i)
D) Gi) () () @
39. Match the books given in List-I with authors given in List-II :
List - I List - 11
(@) The Indo-Greeks (i) G.L. Possehl
(b) The Indus-Age (ii) H.D. Sankalia
() The Saraswati flown on (iii) A.K. Narain
(d) India Archaeology today (iv) B.B. Lal
Select the right answer from the codes given below :
(@ B () @
(A) @) @) (@v) ()
(B) @@ @) @ (dv)
(€ (@v) @) @) @
D) @ Gv) @) (i)
40. Match the items of List-I with those of List-II :
List - 1 List - I1
(a) Brahmagiri (i) Harappan
(b) Rakhigarhi (i) Chalcolithic
() Inamgaon (iii) Megalithic
(d) Junapani (iv) Neolithic
Select the right answer from the codes given below :
(@ B (© @
@) v 0O G G
® (O ) @) @)
© (v ) @) @
D) () @) (v @
D —-6707 16
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41.

42.

43.

Match the items of List-I with those of List-II :

List - 1
(a) Shriman Vyaghrabala Parakramah
(b)  Shri Kumar Devi
(c) Kritantaparasar Jayati Ajitarajetajitah
(d) Shao Nano Kushano

List - 11
i)  Kanishka

ii) Samudragupta

o~ o~ o~

iii) Kumargupta

(iv) Chandragupta I

Select the right answer from the codes given below :

(@ ® (o (@)

@
(it
(

i)

List - II
Satavahana
Kadamba
Vakataka

(A) Gv) (@) @) (D)

(B) @) (@v) @) @)

© @ (@) (@v) ()

(D) @) @@ @) ()

Match the items of List-I with those of List-II :
List - 1

(a) Halmidi Inscription

(b) Aihole Inscription

() Nanaghat Inscription

(d) Pune Copper Plate Inscription

(iv)

Chalukya

Select the right answer from the codes given below :

(@ ® (o (@)

(A) @) (@v) (@) ()
B @O G G @)
© @) @ G @G)
(D) @) () (v) (i)

Match the items of List-I with those of List-II :

List - 1
a) Megasthenese
b) Fa-hien
c¢) Hiuen - tsang
d) Al - Beruni

@
(it
(iii)

(iv)

List - I1

Chandragupta II
Chandragupta Maurya
Harsh Vardhan

Mahmood Ghazanavi

Select the right answer from the codes given below :

(@ B (© @

(A) (v) (D) @) @)

B G @ @) @)

(© i) @v) @O @)

D) O G Gv) (i)
D —6707
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41.

42.

43.

-1 1 AT 1 G-I 1 7al 6 T Gaferd Hife

et - 1 el - 11
(a) 4o TSI YUshH () hfT=R
(b) it FER < (ii) FESTH
(c) FHATRRR SAfd SASTaTSIdrea: (iii) FHAR T
(d) ST TH R (iv) <EEI
= fea T el § | 91 S| g

(@ B (© @
(A) (v) (D) (@) (i)
(B) (i) (@v) () ()
© @ (@) (v) (i
(D) G) @ @) (v
-1 1 AT 1 G-I 1 7al 6 T Gaferd Hife

-1 T - 11

(a) TSt SRl T@ () EdamR
(b) TR Sehivl oG (i) hew
(c) FHTER I&h0 oE (iii) SRR
(d) O qHYS ekl T (iv) =
= fea T el § | 91 S| g

(@ B (© @
(A) @) (@Gv) @ (i)
®) @ @) @) ()
Q) @) @@ @) ()
D) @ @) @v) (i)
Tell-1 1 T_1 bl Gelt-11 1 73l o |19 Gafera s :

et - 1 el - 11
(a) ETEAS () ESEII
(b) HRAH (i) <iETW A
(c) AT (iii) &Y LT
(d) Ao (iv) TRHE TS
= fea T el § | 91 S| g

(@ B (© @
(A) (v) () () (D)
B) @) @@ @) ()
Q) @) (@Gv) @ (i)
D) @ @) @v) (i)
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44. Match the items of List-I with those of List-II :

List - I List - 11
(a) Samudragupta (i) Sword Main Type
(b) Chandragupta II (i) Asvamedha Type
(c) Kumargupta (i) King and Lakshmi Type
(d) Skandagupta (iv) Horseman Type

Select the right answer from the codes given below :

(@ ® (o (@)

(A) @O G G @)
(B) @) (v) @) (D)
(© @) @ (@) @)
(D) @v) (@) @) @)

45. Match the items of List-I with those of List-II :

List - 1 List - I1
(a) Mathura (i) Rajuwul
(b) Panchal (i) Vishnumitra
() Kaushambi (iii) Agnimitra
(d) Ayodhya (iv) Satyamitra

Select the right answer from the codes given below :

(@ ® (o (@)

(A) @) @) @) @Gv)
(B) @) @ (v) (D)
(© Gv) (@) G @)

(D) () (@v) @ @)

Read the passage below and answer the questions that follow based on your
understanding of the passage.

While early farming and pastoral peoples of central and peninsular India were
adapting to a food producing socio-economic lifeway in the second and third millennia,
their contemporaries in the north western sector of the subcontinent had already
developed a cultural tradition characterized by urban and township centres of high
population density, planned cities of mud-brick and tired-brick buildings with grid
pattern streets and drainage systems, copper and bronze metal technology,
standardization of weights and measures, unique works of art in ceramic and stone, a

D—-6707 20



44. G-I H TR R G-I H TR 6 A GAfed T

el - 1 gt - 11
(a) HHRTH (i) AR HEA TR
(b) SEEII (i) 3TTHY YR
(c) FHHNE (ili) ST qAT ALHT YRR
(d) wheTE (iv) FSHAR FHN
= fog ™ wel 6 ¥ 98 W g

(@ @B (©© @
(A) (@) @) (@) (iv)
(B) () (Gv) @ (i)
Q) () @) (Gv) (i)
(D) (v) @) G @

45. G-I 6 TRl G-I 1 T1l o6 e Gaferd s
W_I -1II
AT

= o T el 9 | wEé S g
(@ M () @

) (i)
@
(
(

iii)  (iv)

(
(i
(iv)
(

iii)

(

(iv)
(i)
(@)

(

(i)
(i)
(

i)

iii)

iv)

ey

9 391 Y6 qEd 9 A Seeeadl § Hed F a0 WRd ok AT HISH ST W STEia
TSI AT SHael AT W 9, 3 WHHCIH S Uf¥Ed 9Rd & @i 3 Uk U
it TR 1 o X foran o fa oM STee! & % 9 R 9, Sadl 9 Tehl 321
I Aol G TR fEH v A R S Tooh o A1l off, a9 Hied % SR
9 TfoER, I 9 A9 o A1 BT HFhIhR0T, Uehi TSt T TeeR ht STt el iaal, T T51,
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46.

47.

48.

49.

50.

writing system, extensive commercial networks and a complex social organization of
occupational specialists. This cultural achievement, which attained its mature phase
between 2500 and 2000 B.C. has been labelled the Indus Valley Civilization, the
Harappan civilization, the Indus Age and the Indian Bronze Age.

From which of the following region early farming has been reported ?
(A) North - West (B) Western - Coast
(C) Vindhyan Region (D) Deccan

In which of the region of India early pastoral community has been noticed ?
(A) North - West (B) North
(C) West (D) Deccan

Which of the following facilities were not developed in the North - West ?
(A) Drainage System (B) Technology of Copper

(C) Fiber Optics (D) Writings

Indicate which of the following period is correct for the Harappan culture ?
(A) 2500 B.C. to 2000 B.C. (B) 1900 B.C. to 1700 B.C.
(C) 2000 B.C. to 1800 B.C. (D) 1800 B.C. to 1600 B.C.

Which of the following is correct in respect of population of the North - West :

(A) High Density (B) Moderate Density
(C) Low Density (D) Scattered
-00o0-
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46.

47.

48.

49.

50.

e & H el ST HeiY U et fasivs o1 stfed g d@mes aftferd o)
T Hikhfden Iuaifed, fSE 61 g6 2500 Tal 2000 % = Giaererdl U ki, <kl fHy =t ezran
TSI I, TUSH e, TS YRATT hied o = fau 7 )

Frfafea & @ fa & § wfverd & vgel ford S o1 g7 fierar &2
(A) W - afv=m &= (B) ufk= qdt &
(C) foiem & (D) <& &=

IR o Treferiad 9 | forg & 3 Sifiyen =rerel SHer™ o1 98 Tl =l ?
(A) SW - 9feem (B) W
(C) Tfe=m (D) &

frefafed ® 9 foa glaensti &1 faem sw-ufvem § 78 ger an?
(A) Sa-frem gomert (B) e ARt
(C) TIEaR 3Mfes (D) @A el

freferaa o & @A it o1ty gew Gehfa & fau ot €72
(A) 2500 ¥ 2000 2.4, (B) 1900 %9, ¥ 1700 3.9,
(C) 2000 .9, ¥ 1800 %.9, (D) 1800 2.9, ¥ 1600 3.9,

IH-UT=H &} At o Haiel | fefafed § 9 e 91 9@ 872

(A) S =T (B) MM A
(C) HH = (D) fored strandt
-00o0-

D—-6707 23 P.T.O.



Space For Rough Work



